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QUESTION 1

The support team has a request.

When a Bug is created, it should only display five fields. However, when it is edited, it should display
fourteen fields.

Which configuration is used to implement this requirement?

A. Issue Type Scheme

B. Workflow Scheme

C. Permission Scheme

D. Field Configuration Scheme

E. Screen Scheme

Correct Answer: D

Field Configuration Scheme (Enterprise only) - the project\\'s field configuration scheme determines which field
configuration applies to issue types in this project. (A field configuration determines fields\\' overall visibility,

requiredness, formatting (wiki/rich-text or plain) and existence on various screens).

Reference: https://www.oasis-open.org/committees/download.php/51095/jira-manual-config.pdf

QUESTION 2

All projects use a shared permission scheme.

The Browse Projects permission needs to be updated. Project administrators need to be able to manage
access to their own projects.

What entry should be added to the Browse Projects permission?
A. Group

B. Project lead

C. Project Role

D. Single user

E. Application access

Correct Answer: B

Reference: https://confluence.atlassian.com/adminjiracloud/managing-project-permissions776636362.html
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QUESTION 3

Which statement is true about configuring issue types in a project?

A. Standard and sub-task issue types must always have their own workflows.

B. Epics cannot have sub-tasks in a Jira Software project.

C. There are three levels of issue types in a Jira Software project; Epic, Story, Sub-task.
D. Sub-task issue types can have a different issue security level than their parent.

E. An issue type scheme can have unlimited sub-task issue types.

F. You can disable the Create Sub-task operation on some standard issue types.
Correct Answer: F

Reference: https://blog.testlodge.com/how-to-write-test-cases-in-jira/

QUESTION 4

Which statement is correct about archiving a version in Jira?

A. Versions can be archived only in Jira Software projects, not Jira Business projects.

B. Archived versions cannot be selected in either the Fix Version/s dropdown, or the Affects Version/s field dropdown.
C. Archived versions can be selected only in the FixVersion/s field dropdown, not the Affects Version/s field dropdown.
D. Versions can be archived in Jira only if they do not contain any unresolved issues.

E. Archived versions will be grouped as Archived Versions in the FixVersion/s field dropdown.

Correct Answer: C

QUESTION 5

There is a condition on the Start Progress transition in your workflow, which restricts the transition to users
in the Developers role only.

All other transitions are available to all users.

There is a new requirement to allow all users to execute the Start Progress transition.

Your workflow is not shared.

As a project administrator, what should you do to meet the requirement?

A. Edit the existing Start Progress transition to remove the condition.

B. Delete the existing Start Progress transition and replace with a new one.
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C. Edit the existing Start Progress transition to remove the validator.
D. Update the Transition Issues permission in the permission scheme.

Correct Answer: C
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